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BECC-101 : INTRODUCTORY MICRO ECONOMICS

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as

directed.

Section—A

Note : Answer any two questions from this Section.
2x20=40

1. (a) Illustrate and distinguish between the
expansion path in case of a non-linear
production function and a linear

homogeneous production function. 8

Lot-I P.T.O.
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(b) Draw a Production Possibility curve. What
1s the slope of this curve ? Mark in the
same figure, production possibilities when :

8
(1) resources are underutilised,
(11) when resources are efficiently utilised.

(c) What can bring a shift in the production

possibility curve ? 4
Consider an equation :

Q=w+vP ... (A)

where Q stands for quantity of a commodity,

P for price of that commodity, # and v represent

any constant numbers.
Answer the following questions :

(a) Is the given equation, a demand or a
supply equation ? Give reason for your
answer. Also draw the curve representing
such an equation. 6

(b) Now consider another equation :

Q=w-xP .. (B)
Here again Q stands for quantity of a

commodity, P for price of that commodity,



(©

(a)

(b)

(a)

(b)

[3] BECC-101

w and x represent any constant numbers.
Considering equations (A) and (B),
determine the equilibrium price (P*) and

quantity (Q*) of the commodity. 8

Let u =4, v=2, w= 24 and x = 3. What
will be the values of equilibrium price (P*)

and quantity (Q*) ? 6

Using appropriate diagram, describe the

Law of Variable Proportions. 10

What are the reasons behind varying
returns viz., increasing, constant and
decreasing returns to a factor in

production ? 10

Differentiate between the underlying
assumption of the three market structures,
viz., Perfect competition, Monopoly and

Monopolistic competition. 10

What is meant by ‘excess capacity’ under
the monopolistic competition market

structure ? Explain with example. 10

P.T.O.
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Section—B

Note : Answer any four questions from this

5.

Section. 4%x12=48

(a) What 1s meant by price elasticity of
demand ? Illustrate a unitary elastic
demand curve. How does the shape of this
demand curve change when demand

becomes more elastic ? 6

(b) Discuss the determinants of price elasticity
of demand. 6

(a) What are the wunderlying assumptions
about the consumer preferences ? Also
differentiate between the cardinal and the

ordinal utility analysis. 6

(b) With the help of a diagram, discuss the
concept of consumer equilibrium in one-

commodity case using the utility analysis.6
Consider a consumer who consumes two goods
X and Y, priced at Py and Py, respectively.
Suppose price of good X rises to Pg. Decompose

price effect of this price increase into
substitution and income  effect using

compensating variation in income approach. 12
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8. Consider the figure below, where capital (K)

and labour (L) are the factors of production in

producing output. I1, Iz, Is represent isoquants

for output levels 750, 850 and 950 units,
respectively :
=
s
=
L ]
1= 950
1,=850
I1=750
0 Labour (L)
(a) Identify the returns to scale represented by

(b)

9. A

the above set of isoquants. What are
the factors that bring in such returns to

scale ? 6

Discuss the various reasons resulting in
internal diseconomies of scale in the

production process for a firm. 6

perfectly competitive firm is both

productively and allocatively efficient in the

long-run. Explain. 12

P.T.O.
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10. Write short notes on the following :

(a) Merit good 3

(b) Marginal Rate of Substitution 3

(¢) Economic rent 3

(d) Adverse Selection 3
Section—C

Note : Answer both the questions from this
Section. 2X6=12

11. What is meant by the externality problem?
Explain, how taxes and subsidies rectify

distortions resulting from externality. 6

12. Differentiate between the first-degree and

third-degree price discrimination. 6
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3 Th-SE FHRU W =R HifST
Q=w—-xP .. (B)
[ T8l Q I HI WA, P I& HI HIHE

qol w W6 x Fer ged €1 g (A)

ol (B) W f9=R &% gU, ¥gfad iAd
(P*) WE &% I AGT (Q*) k1 fHuRwm
EAIEIY 8

I u=4,0=2 w=24 M x =3 ©, @

qqfad sma (Pr) W& i@ axg &t
AT (Q*) & WM i TUMT hifSg| 6

SUIH {@ifas 1 FAN L IReEdeiia

I & oM S| 10

SR | TRl WieF & 9gd gu, fer w
Fed Ufdwal & o] 81 % SR dqed110

TR & o fafawy w9 etulq ol
IR, TURIMURR  Td  TRITHHIRE
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AR 10

P.T.O.
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Teifysies  Afodifian SR 9= &
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7. UH T 3uded W faer wifve st & g8 Py
HAd T X o%] qA Py A W Y & H
ST L Bl A ST fh X o%g i HiFd
Py ¥ WSgHl Py @ il B o gfg &
gfqyfder dRexy 3feswin 1 T ®W TC
FHIAd GAE hl FRETT 99§ A Y9 HI
T (decomposition) fFE FhR L2 12

8. frfafea werfed w fomr wifse, s@l ISt (K)
T &9 (1) T SARA & GEF &1 37 M e
% W 9 I,L,I;, GEdR SR ShES:
750, 850 LT 950 THTSAT 1 IcAET BIeT ©

gt (K)

1,= 950
1,=850

1,=750

0o o (L)

(31) STYed GHIARA Tl & WU (set) 9
IR gfdwd 1 HH-d ofaeen yeRid
Bl 82 6
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(F) et ®H, &1 IURA UhA H SRS
STHqeEa@st & @F] 8F & &R &l ==
HIfST| 6

9. Jelkral H Wk YO YA wH IARA TH
e IH & 3fie ¥ el B R e

IS 12
10. FAfafed | @9 Aie fafay :
(1) Hfe Ty 3
(9) Hiard gfaeemaT 5T 3
() efefer oA 3
(?) Yfderd =Fd 3
G ug—
FIZ ;39 WIS W FIF & T % IW S
6x2=12

11. 9T H THEN W A S §7 AT RIS
foh fE UHR HT dA 3TEH  (subsidies)
AEraIstl ¥ oJd— Tehael Hi I W Bl 6

12. 5o feift don g fet #ma fads = <=
R FarEd| 6
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